Cll# Haxoxnenue nepeMeHHOM BeJInYuHsI (+, -, X, +

Nwms:
Haiigure 3Hayenne x. OTBeTHI
D 11+0x=11 2) 2x+3=21
1.
2.
3.
3) 81-9x=27 Y 135+-8x=179 4.
5.
6.
7.
S) 54+ 1x=57 6) 85-2x=75
8.
9.
10.
7 3x+66=45 8) Sx+40=55
11.
12.
9 105-5x=175 10) 135-7x=172
1) 2x +18=124 12) 64 - 5x =44
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Haxoxaenue nepeMeHHOM BeIUYuHbI (+, -, X, +)

Nwms:

Kiwu k IpaBUJIBHBIM OTBETaM

Haiinure 3HaueHue X.

1)

3)

S)

7

9)

11)

11+0x=11
Xx=3

81 -9x =27
XxX=6

54+ 1x =157
x=3

-3x + 66 =45
x=7

105-5x=175
Xx=6

2x + 18 =24
x=3

2)

4)

6)

8)

10)

12)

2x +3=21
x=9

135+ -8 =79
x=17

85-2x=175
Xx=5

5x +40 =155
x=3

135-7x=172
x=9

64 - 5x =44
x=4

OTrBeTHI
L. 3
2. 9
3 6
4 7
5 3
6 5
7 7
8 3
9 6
10. 9
1. 3
12. 4
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1-10
11-12

7567 [58[50]42]33[25[17]




Cll# Haxoxnenue nepeMeHHOM BeJInYuHsI (+, -, X, + Nwmsi:

Haiigure 3Ha4yeHue X. OTBeTHI
6 9 3 5 7
6 3 7 9 3 1.
D 11+0x=11 2) 2x+3=21 5
3.
4.
5.
3) 81-9x=27 4 135+-8x=179
6.
7.
8.
9.
S) 54+ 1x=57 6) 85-2x=75
10.
7 -3x + 66 =45 8) 5x +40 =55
9 105-5x=175 10) 135-7x=72
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